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ECONOMICS
PAPER —1I

Note : This paper contains fifty (50) objective type questions, each question carrying

10.

11.

12.

13.

two (2) marks. Attempt all of them.

If, in a set of items, each item has a definite place of its own, then we are using :

(A)  Weakordering (B)  Strongordering

(© Both(A)and (B) (D)  None of the above

Barometric price leadership implies leadership of :

(A)  Low costfirm (B)  Highcostfirm

(©  Mostexperienced firm (D)  Leastexperienced firm

In Sylos model of limit pricing, demand is :

(A)  Unitary elastic (B)  Perfectly inelastic

(©  Perfectly elastic (D)  Unstable

The Ridge line is the locus of points where marginal productivity of relevant factor is :
(A) Equaltoone (B) Equalto zero (©  Greaterthanone (D) Lessthan one
Psychological Law of consumption is associated with the name of :

(A)  J.M.Keynes (B)  Milton Friedman

(©  J.R. Duessenberry (D) F.Modigliani

According to Keynes, level of employment depends on :
(A) Aggregate demand (B)  Aggregate supply
(©  Demand and supply equilibrium (D)  Effective demand

If the money supply equals M and the demand for money is given by ky — hi, then the equation of

the LM in terms of the rate of interest (i) would be :

A) i koM B) i koM i=ky+M i=ky—M
= — —_— 1=— - = = —_

@ i=py-L ®) i=pyis (@ i=ky+ O i=ky

Interaction between Multiplier and Accelerator leads to generation of continuous cyclical fluctuation,
is stated by :

(A) Harrod-Domer (B) Kaldor - Mirrlis

(©  Samuelson - Hicks (D)  Joan Robinsion - Saraffa

Currently, the HDl is being measured in the :

(A)  Freedom perspective (B)  Idealistic perspective

(©  Attainment perspective (D)  Deprivational perspective

For radicals, development and underdevelopment are :

(A)  Sequential (B) Co-existent (©  Co-generic (D) Co-terminus
IRR is that rate of discount which makes :

(A) PVC=PVB () PVC>PVB (© PVC<PVB ) PVBLyc>1
Which of the following is inconsistent with steady state growth ?

(A) Harrod neutrality (B)  Hicksneutrality

(©  Harrod non-neutrality (D)  Hicks non-neutrality

Proper ‘knife-edge’ problem refers to:

A gn#8w (B) Independence of g,,, and g,

(© Instability of g,, and g, (D) Inherentinstability of g, itself
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U91-u —11
A : T IS | UE (50) 9g-foeed T T €1 TE U9 R g (2) 31k €1 |t Ul o W
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(A)  FHASRHAE (B) T FHAUE
©  (A) Tl (B) I T & (D) SWH F FE Tet Tl &
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(A) HH HIAT FH & AGA (B) A HiUA HH I g
©  wife STIHelt FH BT g (D) = STl W T g

10.

11.

12.

13.

i g fruior & aEc™ gea § | 6t e
(A) Ufkm A= (B) YUIEYY 1A © IO A (D) AR

Tt e =7 foreg vt € weT Sgfad |em it S Sk ¢ :

(A) TR (B) I h AR © U9 At (D) Th 9 HA
YN & AT I 1 Heier fhad §2

(A) ATFE (B) fHereA reia © SERTEET (D) T HeieEr
Fg T SFTAR ISR 1 R FR e & :

(A) W (B) T SR

(© I s Agfd =1 e D) W |

IS Tt SMYf M % SRR & T GT & FeTe AT ky — hi 5/ S 7E &, 79 =411 1 (i) o i § LM
T FHIHTT BT .

.k M .k M _ — , _
(A) =0y (B) 1—hy+h © i=ky+M D) i=ky—M
T[Tk T YA & S SRR STeRd dcheh SAR-Tgd ScTsl hid ¢, I8 fohe Fel & ?

(&) e - THR B) e - fRfew

© S - feam D) S - Afo=e T - =T

A TE § HDI 1 AT S §

(A) e aRoe (B)  3TeRieTal ufEe

©  siferofiq afdiea (D) SEITRRER Rued

sifaenfeat o fere fasm qen steufaeswm & :

(A) SRS (B) WE IUMEd © EE S (D) e 3ids
IRR B i 98 L& & oA © -

(A) PVC=PVB () PVC>PVB (C) PVC<PVB O PVBiye>1
Frefafed § 9 e o st gfg & STEd T2 § 2

(A) TS @) e qewem © TS sTaee (D) feom sraewem
arEdfae ‘B H uR' FEe § Aty ©

(A)  8n#8w B) 8w S:ﬁTgn EARSREN

© g, R g, i feerar (D) &g, i ST
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14.

15.

16.

17.

18.

19.

20.

21.

Under whose chairmanship was the first Finance Commission of India appointed ?
(A) K.C. Niyogi (B) K.Santhanam (© AK Chanda (D) C.Rangarajan

Which one of the following is not source of income in central finance sanctioned by the Constitution
of India ?

(A) Corporationtax (B)  Customduty (©  Income tax (D) Land Revenue
Which of the following canon is associated with Adam Smith ?

(A)  Canon of elasticity (B)  Canon of productivity

(©  Canonof certainty (D)  Canon of expediency

Automatic adjustment in the balance of payments, under the gold standard, is brought about through
changes in :

(A)  generallevel of prices (B)  rates of exchange

(©  generallevel of prices and rates of exchange (D) income

The main thrust of New Industrial Policy is to invite greater participation of :

(A)  Public sector (B)  Stock holders (©  Private sector (D) Banks
Which of the following States was largest producer of wheat in India during the year 2003-04 ?
(A)  Punjab (B) Haryana (C) Uttar Pradesh (D) Madhya Pradesh
If correlation co-efficient between two variables is equal to — 1, then these variables are :

(A)  Uncorrelated (B)  Moderately correlated

(©  Highly correlated (D)  Perfect correlated

Which of the following is a type of probability sampling ?

(A)  Convenience sampling (B)  Purposive sampling

(©  Systematic sampling (D)  Quotasampling

Read the passage given below and answer questions 22 to 26 based on your understanding of the
passage :

Real GDP in the United States of America grew at an average of 3% per year over the past 40 years.
What explains this growth ? A technique called growth accounting that divides the growth in
output into three different sources; increase in capital, increase in labour and advances in technology
has been developed.

For that, let us write the production function as :

Y=AF(KL),

where A is a measure of the current level of technology, called total factor productivity, output now
increases not only because of increases in capital and labour but also because of increase in total
factor productivity.

Our equation accounting for economic growth becomes :

AY AK AL | AA
— =x — + (1 —x) — + —
Y K L A
Rate of Growth in output = Contribution of capital + Contribution of labour + Growth in Total factor
productivity.
where « is capital’s share and (1 — ) is labour’s share in output.

Because total factor productivity is not observable directly, it is measured indirectly. We can compute
the growth in total factor productivity to make sure that everything adds up.

— is the change in output that cannot be explained by changes in inputs. The entity —— is

A A

sometimes called the Solow residual, after Robert Solow, who first showed how to compute it.

J—0105 4



14.

15.

16.

17.

18.

19.

20.

21.

UG o YW T A& o1 7S foraent steaerar § T am e ?

(A) . Rt (B) . TUFH © TH =R (D) . IsH
IR % ST & Jraemi & stavia fefafad § s s faa § o 6 @ T2 2

a) TrImH (B) HHI Yok AUUR (O ITHR D) Y-
Frefafad & @ wqa ufag ten foy 9 gefid 82

(A) e 1 g (B)  ScaEehHdl 1 W

© Tafveda = ufem (D) SHIEHAT 1 9 EH

ol ARl & Siarta, Frefafead & 9 fras 9iads gr e dqem § T@aHa SErisH ot S € 2
(A)  HIFl T A TR ®) fafma s

© @ S A TR A fafra s D) ™

o= e Hifa w1 TqE oo i AfreRan YRTRRY ST o 2

(A)  wESTR & (B) % U © fisitas D) &

T 2003-04 H FrefafEd § § HiAar IRAE T T H T TS ISR 12

(A) I (B) =i © WU (D) HATRY
Ifg =l % T GeEaY Ok —1 F IR Y, AARW__ B

(A)  oTHEHsI (B)  iEq T % Hedsifa

© AT HeHayd (D) ol &9 § HeHa i

e # | = wifersan gfaeem g2

(A) g gfdeed (B)  HIEATHSE Ufa=ad

©Q  sHHEG FideE (D) i gfaaad

Trefafad SguT ol U a9 W9 22 | 26 h 3T H 7G0T o MAR WS —

YK T STHIGHT 1 Aforeh Bike] Hohel 3cuTe TIaet 40 3l H 3% i 37 9d U =@l | 39 gfg &l il
T S FhA1 § ? I8 Teh UH dohrioh okl bt 18 gfig iamerior el < Hehdl © 3R 51 Scdre H gfg
T A TerT-STer Bl 8§ faifed st ® ¢ gSit # 9fg; 9| o gfig ik drenfrent # woifa )

39 HHFA o oI, B9 SciTe et i o,

Y=AF(KL)

i A T reifitent 3 TR o1 U A R, S ol 9ree Screendr el St § 1 316 3aed | iy
7 fad g9 o) gt ¥ gfg & At §, g ol e seureswar H gfg | off Bt T

T YRR A1 gig T Teiehr 59 St §
AY AK AL AA
S (1 e = 22
Y K L A

IcUTe H gig & = TSIl B AMEH + FH B AN + HYOl e Scareehd § gig

Selfeh oc Yoft T AT (1— o) FH T G H fegdn 7

<o Tl FIUA ISR el T Y Feoia T €, 7: TH A Y H A S S | TH WYl |
SeTeehal H g T 39 YRR BT (compute) X Tahd & foradt e gfg o weft w1 = o o
A |

AA , , . . AA .
e 3cTeH § 9% Seera Jardt § 9 STl (inputs) H SQed | & STihT ST Heh | N EARICE

Tl o AT I ST EIedl A9 o hal ST & SRifoh Telgerd Tl 3 &l sIdran of T g9eht 31fiyehar hd
forar S |

J—0105 5 P.T.O.



22,

23.

24.

25.

26.

27.

28.

29.

The total factor productivity can change for many reasons. Changes most often arise because of
increased knowledge about production methods and the Solow residual is often used as a measure
of technological progress. Yet other factors, such as education and government regulation, can affect
total factor productivity as well.

A is ameasure of :

(A) change in technology (B)  change in capital productivity

(©  changeinlabour productivity (D)  total factor productivity

If A increased by 1%, with inputs remaining unchanged, then output would increase by :
(A)  onepercent (B) morethan1 percent

(©  less than1 percent (D)  anunspecified percentage

Solow residual is given by :

A A - AA . AK D) (1 —x) AL
® ® © = ©)

Solow residual is a measure of :

(A)  total factor productivity (B)  technical progress

(©  degree of ignorance (D)  none of the above

Essentially the thrust of new growth theory is on :

AA
(A)  Deciphering the sources of A

(B)  Discounting the neo-Keynesian growth theory
(©  Explaining convengence
(D) Explaining divergence

Starting with the earliest, arrange the following in the chronological order in the development of
theory of investment-output :

(i)  The Keynesian theory (i)  Theory of Accelerator
(iii) Flexible theory of Accelerator  (iv)  Q theory of Tobin
Codes:

A Gv) @) @) (i)
(B) () (i) (v) @
© O @@ ) (
O) @) @) @

Starting with the earliest, arrange the following concepts to study the Indian Budget chronologically :

11

iv)

@) Revenue deficit (i)  Budgetary deficit
(iii)  Fiscal deficit (iv)  Primary deficit
Code:

@ O ) @) W

(B)  (v) (i) (D) (@)

© G (v) @) (i)

O @) O o Gv) @)

Starting with the earliest, arrange the following in the chronological order in the theory of regional
groups:

@) Economic union (i) Commonmarket
(iii) Customsunion (iv)  Freetradeareas
Code:

(A) () Gv) @) (i)
B) @) (@ o (v) (i)
© @ @) () (
O) () @) G o (

J—0105 6



HYUf |1EH IcASHAT § IGaTd g R U 8 Tohdl 8 | A Feeld g A1 ScTe o aliehl o fom § 91
T gfg ¥ o1 € 3R Fiel STa9y ol TR WEifiTehia Wi <l |19 o foru s&mme foran siran &1 qenfy,
Tren den TR faf=9T (government regulation) Y 3T Wﬂﬁu@wmwﬁumﬁﬁ
FALI

22, ATHHANE —

(A)  rEnfiTnt | aga (B)  YSI I ScARHAT H TS

© g9 ! IRl § e (D)  HYUT HIEA IATGHRA
23. 3Tl (inputs) H for1 foReht sgema &, afs A # 1% Jfs & a1 Scured 9 gfg 2t —

(A) 1 e B) 1 yfderd 9 sifees

© 1 ufaed 9 %A (D) U AffvEd gfawrd
24, Gl YT § —

AA AK AL

A A ® © o @1 -x T
25. Il STeRIY SR AT ¥ —

(A)  HY HIEA IATGR (B)  Tehlehl TAIfd

Q 3T I HEN (D) STdF H 9 FIE 76l

26. To9 gfg fagr &1 &1 9 39 WE —
AKA o HIdl o1 hear= (deciphering) ®) - gfs fagra =1 g

© e ol TR (D) STEASIE T TR
27. THaw emseye & fagia # ffafea &1 e w0 § syafed X :

() = fasia (i) Tifqeeer = fagia

(iii) ~ TierEeR 1 TN faSia (iv) fem =1 g fagia

%<

A @) @ @) (i)
B) @) (@) (@) @)
© @ @) 3N (@)
O) @) @Gv) @) (i)
28. AT oSIE o AT o fou ffafad STasmon ) e shA § oaferd & |

() 3T 1 HRl (i) SIS (iii)  forita =M (iv) SrfHeR =
%
@) @ @) (D) (iv)
B) (v) (i) (@) ()
G) (@Gv) () (i)

©
O) @) @ o Gv) ()
29. &g T o fagia ® frefafaad #i sTiE e § Safed wi)

() T g (i) M-I (iii) HH-Yoh T (iv) G AR &5
%<

(A) (i) @qv) @) (i)

B @) @) - Gv) (i)

© @ @) g ()

O) Gv) @) @) ()

J—0105 7 P.T.O.



30. Starting with the earliest, arrange the following in the chronological order in the development of
theory of demand for money :

@) Transaction demand and precautionary demand for money
(i) Speculative demand for money

(iii) Total asset demand for money

(iv) Friedman’s demand for money

Code:

@ 0 @ )

® v G O )

© @ ) @) 0

O G O @ @

31. Arrange the following states in descending order of population as per the population census of

2001.
@) Maharashtra (i)  WestBengal (iii)  Uttar Pradesh (iv)  Bihar
Code:
@ O @ @ @
® @ (@ O G
© G O @ G
O @ (v G 6
32.  Starting with the earliest, arrange the following in the chronological order in theory of balance of
payments :
@) Elasticity approach (i)  Absorption approach
(iii) LM and IS approach (iv)  Monetary approach
Code:
@ O @ G W
® @ ) ) 6
© @ O G (i)
O i) v 0 @)

33.  Starting with the earliest, arrange the following in the chronological order :
@) (AAY) Antyodaya Anna Yojana

(i) (SJSRY) Swarna Jayanthi Shahari Rozgar Yojana
(iii) (VAMBAY) Valmiki Ambedkar Awas Yojana

@iv)  (IAY) Rural Housing - Indira Awaas Yojana
Code:

@ @ @ @)
® O G @) ()
© @ G G 6
O G O @ G

34.  Assuming strictly convex and monotone preferences over bundles of two commodities, it is known
that the consumer is indifferent between bundles (10, 18) and (6, 30). Consider the following

bundles:

@) (10,18); (i) (8 24); (iii)  (6,29); @) (5,18).
Arrange these bundles from the least preferred to the most preferred
Code:

@ @) @ 6 G

® @ O G G

© @) (v O

O Gv) @ @) (1)
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30.

31.

32.

33.

34.

g1 % fau A & fagia § frafatad =1 & 50 § sFafed a3
() g1 Tefaard =i % fore oF- deie wim

(i)  HE1 o fore srgata =i

(iii) H& % T Tehar afEefa A

(v) Y& % fau weid gr yafad |

%<

@) @ G ) (iv)

(B) (v) () (@) (i)
© @ Gv) (D) @)
O) @) @ G ()

STUAT 2001 % SATER Frefafad I o1 s1add 8 | safeed wi)

() TR (i) OfEEE-sTA (iii) SWIY (v) fo=r
e

@) @ (@ ()
(B) (v) () (@
© @) @ Gv) (i
O) @) Gv) i) @)
T § Her & fagia # frefafed o TR 59 § et &

Prany

iv)
iif)

() < A (i) ST IUFTH
(i) TEL.TH. AT TE.TH. SUFTH (iv) wifees 3am
<

@ @ G () ()

(B) () (D) (v) (D)

© @) @ @) (i

O) i) @) @) ()

frfafad 1 FHITHATTIR Safeerd 1 |

() (AAY) ST<IRE 3T Al

(i)  (SJSRY) Tl ST & ISR A1

(iii) (VAMBAY) STCHITh STRIEHT STETH A1
(iv) (TAY) THTOT STemd - 3= SATEE s
<

@A) @) Gv) @) (i)
B @ @) () ()
© Gv) (D) @) @)
O) @@ @ o @v) ()

T I Tt o TS W HSR T | I TS Tehordll SFdrsii ohl HFW IR I ol § fof sIvedt (10, 18)
TAT (6, 30) & o= IUNHT dex B | Frfafed svea W fomm &

@  (10,18); (i)  (8,24); (iii)  (6,29); (v) (518).

=ATH 9T G AfRdd o o HH H T FUSal ohl HeIEd i |
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35.  Match the following:
(@@ W.W.Rostow @) Effective Demand
(b)  Ragnar Nurkse (
(9  J.R Hicks (iii) Balanced growth
(d) J.M.Keynes (iv)  Stages of growth
(v)  Protectionism

ii)  Weak ordering

Code: @ @M (o (
ii) (i) (V)

@ @O
® & O @ @@
© @) @) @ 0
O @ v O @)
36.  Match the following:
(@ W.J.Baumol @) Ethics of Economics
(b)  B.Ohlin (i) Inter-Regional and International trade
()  Gunnar Myrdal (iii) AnEnquiry into Nature and causes of wealth of Nations
(d) AK.Sen (iv)  Asian Drama
(

v)  Economic theory and Operations Analysis
Code: @ ® ©@ @
@ @O @) v
® © @ G O
© @) @ @)
O @ O

37.  Match the following :

(@@  Canon of Taxation (i)  Alfred Marshall
(b)  Protectionism (i) Musgrave
(9  Differential incidence (iii) A.Cantillon
(d)  Elasticity of demand (iv)  Mercantilism
(v)  AdamSmith
Code: @ @M (o (d)
@ O 6@ @ G
® ) @) ) G
© @ O (@
O © @ @ 0
38.  Match the following :
(@  Relative Income hypothesis (i)  Milton Freidman
(b)  Permanent Income hypothesis (i) J.M.Keynes
(©  Marginal efficiency of capital (iii) D.Ricardo
(d) Comparative cost advantage @iv)  J.S.Duesenberry

v) R. Cantillon
Code: @ ® © @
A ) @ (ﬁ) (iii)

® (v () G (W)
© o @ @&
O @ @) O @
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35.

36.

37.

38.

(@)
(®)
©
C)

@
@ O @
® © O
© @) (i)
©) (i)

ﬁ?ﬂfé’o’l’ﬂ:

(@)
(®)
©
C)

J—0105

TSl AHA

(i)

Herelt |

gaa B
wafafs
gl i e

TRy 31T SehTAITHR
FUS-{STel IS SIS 28

T ST $2 o) UUE hisiy 3T oo 3T 49y
TferE g

SHMITHE 3Tl TUe STTIWH TATferfas

Iehe AR

gFudtfery
Teq Yy

Toeer freta
ST,

2. Rt

. T, g
. FHAH
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39.
(@)

(®)
©
(d)

Code:

40. Match

(a)
(®)
©
(d)

Code:

41. Match

(a)
(®)
©
(d)

Code:

42, Match

(a)
(®)
©
(d)

Code:

J—0105

Match the following :

Marginal productivity theory of @)
Distribution
Comparative cost theory (ii)
Indifference curve Analysis (iii)
Monopolistic competition (iv)
)
@ ® © @
@ © G @ 6
® O G @
© G @ © G
O @ O G G
the following :
Perfect competition @)
Bernouli’s theorem (ii)
Classical theory of employment (iii)
Ricardian theory of rent (@iv)
)
@ ® 9 @
@ O @ ) ()
® @ © @ )
© G O (@) o
O G i) ) 6
the following :
Tobin, James and Nordhaus, William (i)
Sen, Amartya K. (ii)
Goulet. D. (iii)
Mehbub-Ul-Haq (iv)
)
@ ® 9 @
@ @ G 0 G
® O G ()
© ® O @
O @ G ¢ 0
the following :

Diminishing marginal rate of substitution
Marginal productivity of Labour < 0
Disproportionality and under consumption
Universal diminishing marginal returns

@ ® @@ @
VA VR VR V)
® O G G
© G @ @ (i)
O @) @) @ 3G

12

Labour theory of value

Assumption of non-satiety
Product differentiation
Perfect competition
Liquidity preference

Diminishing marginal utility of money
Flexibility of wage rate

Perfect mobility of resources

Flexibility exchange rate

Diminishing marginal returns

Authentic development
Measure of Economic well-being
Human Development Reports
Development as Freedom
Selective egalitarianism

@) Dual economy models

(i) Marxian theory of capitalistic crisis
(iii) Ricardian stationary state

(iv) Indifference curves analysis

(v)  Circular flow
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© (@
(i) (iv)
(i) (i)
(i) (v)
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A) ()

(B (iv)
© (i)
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NOTE:

43.

44.

45.

46.

47.

48.

49.

50.

The remining questions in this paper are of Assertion and Reasoning Type. The correct

code is to be selected from the four options given below for each of these questions:

Code:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true but (R) is not correct explanation of (A)
©  (A)istruebut (R)is false
(D) (A)isfalse but (R) is true

Assertion (A)

Reasoning (R)
Assertion (A)

Reasoning (R)

Assertion (A)
Reasoning (R)

Assertion (A)
Reasoning (R)

Assertion (A)
Reasoning (R)

Assertion (A)
Reasoning (R)

Assertion (A)

Reasoning (R)

Assertion (A)
Reasoning (R)

J—0105

Though X and X,,i, for a sample are both unbiased estimators of
population mean, X is the preferred estimator.

X is more efficient compared to X i

Weneed to increase our spending on the social sector for increasing human
capital.
Wagner’s law of increasing state activity demands so.

These days the producers of knowledge are at a premium.
Augmented Kuznets curve holds.

Farmers are committing sucides because of the increasing burden of debt.
If the production function is homogeneous of degree one then

S DA A
0K JL

Off-Take from the PDS in India has declined.
Poverty in India, as per official estimates has declined.

Devaluation, other things being equal, helps in reducing the deficit in the
balance of payments of a country.

It lowers down the prices of exports and increasse the prices of imports.

A developing economy, with a thrust on present consumption, would opt
for labour-intensive techniques.

An economy opts for more intensive use of its relatively abundant factor
of production to keep its costs low.

Global per capita incomes are showing divergence.
The saving ratios and rates of population growth differ across the nations.

N NN Nk
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43.

44.

45.

46.

47.

48.

49.

50.

T YYTUS o 919 U9 ke ST RIUT Ueh ok ¥l 370 © Uedieh U9+ o forg <o fedr feremeat

Y wd gz atT

A (A) 3R (R) S W& E q (R), (A) T W =TS 7

B) (A) 3R (R) T TE & T (R), (A) T TE = TE §
© (A) Wl g, W (R) Terd @

D) (A)TTe & WY (R) T &

hAUT(A):

T (R) :

hAUT(A):

T (R) :

hAT(A):

<hIOT (R) :

HAF (A) :

T (R) :

hAT(A):

T (R) :

HAF (A) :

T (R) :

HAF (A) :

<hOT (R) :

HAF (A) :

[T (R) :

J—0105

Ty foreht T H7ga o fau X Qe X5, SF1 SIE @ J158 & ST Thersh 6, X &
T TR §
Xppin 1 T H X SR e €1

RIS 1 TR ¥ o o8 W &5 H o @ &1 9g H STERRd B |
TS & Fharenetdl ot ge-sierar & atd o fgid i &l 7§

FTSTehel FM % Scaresh Tafay T e |
SFHUSE o<l el i Ig AT ] |

st % oG U SISl o HRUN ok SAHEA FL W T | .

Ffe Ieare e g et o1 wwema § @ F(K,L)=§—£K+8—LL

IRA H Wik faarer yomett (PDS) & S = Tt ¥
TR AR % STTER IRd B Tl =2 7 ¥ |

ST Teh T % YIAM e | =1 ! HH HE B Feash ¢ Saih o7 gt =i ot
R

STaedd § Fafdl o 7o %H B1d § 3R STl o Jod 96 9 © |

e fasmraeiier <9, FSreeht ada™ SR W SR 21, 9% 99 S qeheihi sl T |

FHITd! 1 HH T T, Teh < ST SCUCH R H Fd ST I & FST8eh! ST I
AT Bl |

Sfvaen ufd =afh STl H ST9ERT (divergence) B @I R |
TP & o TEd X AT TS gig H o fe-fe ¥

ok Nk N
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